1050 SPEED TRIPLE
2011
15.TR10.02

Amortisseur 15C45
Attache amortisseur 90°

Patte direction 1050 Speed Triple/2011
Entretoise 105 Speed Triple/2011

Vis Button M8x50

Vis Button M8x20

Patte chassis 1050 Speed Triple/2011
Patte chassis 1050 Speed Triple/2011
Vis Téte cylindriqgue M8x16

Vis Téte cylindrique M6x30

Vis Button M8x20

O-ring O 12x2

Damper 15C45
Damper clamp 90°

Fork bracket 1050 Speed Triple/2011
Spacer 1050 Speed Triple/2011
Button screw M8x50

Button screw M8x20

Frame bracket 1050 Speed Triple/2011
Frame bracket 1050 Speed Triple/2011
Cheese-head screw M8x16
Cheese-head screw M6x30

Button screw M8x20

O-ring O 12x2

Dampfer 15C45
Dampferclip 90°

Gabelhalterung 1050 Speed Triple/2011
Spacer 1050 Speed Triple/2011
Knopfschraube MB8x50

Knopfschraube M8x20

Rahmenhalterung 1050 Speed Triple/2011
Rahmenhalterung 1050 Speed Triple/2011
Zylinderkopfschraube M6x16
Zylinderkopfschraube M6x30
Knopfschraube M8x20

O-ring O 12x2

O,

(@)

:

e 5,00 MM e 65,00 mm —»-J —
Braquez i gauche
Left hand down

Links unten

- 5,00 mm -l
Braquez a droite

Right hand down

Rechts unten

Ix Patte Té Speed Triple 1050/ 20 —

2x Entretoise Speed Trjple 1050/ 2011

2

Nous déclinons toute responsabilité pour les éverls
dommages provoqués par un montage irrégulier suivane
plan de montage joint ou par des modifications apptées a
I'amortisseur de direction et a ses composants.

The company declines any liability for damage causeby
incorrect assembly or by any modifications made tothe
steering damper and its components.

Die Firma ist nicht haftbar zu machen fir samtliche
Schéden, die durch inkorrekten Anbau oder durch etvaige
Veréanderungen am Anbaukit oder am Lenkungsdampfer|
auftreten.




